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p = 1.86e−15
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p = 2.54e−03
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cor = −0.209
p = 4.15e−06
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p = 4.05e−02
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p = 6.18e−03
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p = 1.14e−14
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p = 2.99e−03
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cor = −0.181
p = 7.21e−05
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p = 4.70e−05
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p = 7.16e−05
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partial.cor = 0.325
p = 3.12e−13

● ●●

●

●

●

●

●

●
●● ●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

● ●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

● ●●●

●
●

● ●

●●

●

●●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

● ●

●

● ●

●
●

●
●

●●●

●●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●
● ●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●●
● ●●

●

●

●

● ●
●
●

●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●
●

●

● ●

●

●

●

● ●
●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●●

●
●

●

●

●

●

●

●

● ●

●

●

●

●

●

●
●

● ●

●
●

●
●

●

●
●

● ● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●●
● ●

●

●

●●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●●

●

●

●

●

partial.cor = 0.1
p = 2.88e−02
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cor = −0.283
p = 3.18e−10
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p = 2.12e−04
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p = 5.09e−06
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partial.cor = 0.179
p = 8.62e−05
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partial.cor = 0.347
p = 6.32e−15
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partial.cor = 0.146
p = 1.42e−03
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